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RELATIVE POSITION OF POINTS AND LINES IN A
PLANE

TABLE–SELECTION GAME

Select one correct answer for each of the questions in the test and press the
Finish button at the end. The answers will be validated automatically.

Warning: The interactivity in this PDF file is enabled by
Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



FINISHSCORE

Suppose a line p passes through the point A = [2; 3] and additionally has the property described in the
first column of the table. In each row mark the line’s equation.

p1 : y = −3x + 9 p2 : y = x + 1 p3 : y = 2x − 1
p4 : y = −2x + 7 p5 : y = 3 p6 : x = 2

1. B ∈ p, B = [1; 5]

p1 p2 p3 p4 p5 p6

2. p ⊥ o, o : x = 0

3. p ⊥ q, q : y = 5

4. p || r, r : 3x + y = 0

5. p ⊥ s, s : y = −0.5x

6. p || t, t : y = x



You outdid yourself today!Wow, what a wonderful job! Just be careful about
an alcohol party before an exam. You could

damage your brain cells.

Awesome! Keep it up!Amazing! Incredible!You are an Einstein!You are so close to victory,
don’t give up!

That was close! Next time you will
shine like a star.

Great. Next time you won’t make any mistakesIt almost couldn’t have been better. Almost.Great! Only millimetres
away from perfect.

Making mistakes is better than faking perfection.You can do better! You have to work harder!Hang in there, there is space for improvement.It is not so bad, but you still have
a lot to catch up on.

It’s not bad, but you can do better!Are you keeping your energy for later?You got it. Don’t throw in the sponge!It wasn’t Enigma,
so where is the problem?

Keep trying. It will be better next time.Ehm, you aren’t Jesus walking on water.
Get back on the ground!

For this test - the goose is in the oven!
Try another test.
There was a time

Einstein couldn’t count to 10 either.
Mission failed. We’ll get them next time.What a calamity!Let’s pretend it never happened.

Correct answers:




